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QUESTION 1

Push the Exhibit Button to load the referenced "XML Document".

[ZHML Document] <
<Infinished xmlns="urn:xmlmaster: TNFINISHED ™
<List>

<Morker =mlns='urn:=mlmastcer: MOREERY
Maucs—"J0=LL WoLhiall®/ -

<horivicy xmlns="urn:xmlmaster:VISITY
Code="0002 ">
<DateTime>2004-07-01 13 :00</DateTime>
<Location xxmlns="urn:xmlmaster : CONTLCTM>
<MName>John Smith</Name:>
<Addressr31injuku Ward Tokvo</Lddress:>
</ Locations
<Jokh Proceduse="Install A:r Conditioner”
Time="z"/ >
LAl US S COMPLETED - S S enL WS
< Aotivitys
<horvivicy x¥xmlns="urn:xmlmaster:VISIT®
Code="0003 ">
<DateTime>2004-07-01 16:00</DateTime>
<Location #mlns="urn:xmlmaster : CONTLCTM:
<MName>Een Iiller</Name>
<hddress>3iibuya Ward Tokyo</ Address»
</ Locacions>

<Joh Proceduse="Clean air conditioner™
Lime=g"r>

<3tatus>WAITING</Status>
</ Activitys
</ List>
</ Tnfinisheds

When processing the "XML Document" according to the method shown by "DOM Processing," which of the

following correctly describes the output results (print and/or printin method output)? Although the expected processing
result is choice "A", processing may not occur as expected.

Latest 110-002 Dumps | 110-002 Exam Questions | 110-002 Braindumps 2/6


https://www.geekcert.com/i10-002.html
https://www.geekcert.com/i10-002.html
https://www.geekcert.com/i10-002.html

VCE & PDF https://lwww.geekcert.com/i10-002.html
2024 Latest geekcert 110-002 PDF and VCE dumps Download

GeekCert.com

[DOM Processing]
Process ZML usiag the folloving method.
prrincEML | doe | ;
The wariable doe here references the Docuwent instarce of the loaded XML Document.
The DQM parser 13 namespace avare.
Azzume no execu-ion errora.

public static wvoid printXML({ Documwent doc | o
Node node = doc.getElementaByTaghamells |
furn:xmlmaster i CONTACT™, "MNewe™) .item (0] :
String name = node.getFirstChild() .getMNodeValue () ;

HNodelList nl = doc.getElementabByTagianeNs ("urn: xmlmaster it VISITY, "Aoctivity™) :

for {(int i = 0; i < nl.getlength(): i—+) 4
Element elem = [(Element nl.item(i):
node = elem.getElementsByTaghameNs |
furn: ¥xmlwaster :VISITY, "DatceTiwe™) .item(0) ;
System.out..arint (Mot Visited:™):
System.out.arint (node.getFirstChild ) cgetlodeValue() ) ;
System.out.arint (" Worker=" 4 name) :
node = elem.getElement abyTagllamells (
furn:¥mlmaster s CONTACTY, "MNewe™) .item(0)
System.out _arint (f, Wi=sitc (") !

Syatem.out.rint (node.gecFirstChild ) .gectlodeValue (] ;
System.out.arintln(™) ™)

A. Not Visited:2004-07-01 13:00 Worker=Jeff Workman, Visit(John Smith) Not Visited:2004-07-01 16:00 Worker=Jeff
Workman, Visit(Ken Miller)

B. Not Visited:2004-07-01 13:00 Worker=John Smith, Visit(John Smith) Not Visited:2004-07-01 16:00 Worker=John
Smith, Visit(Ken Miller)

C. Not Visited:2004-07-01 13:00 Worker=Jeff Workman, Visit(John Smith)
D. Not Visited:2004-07-01 13:00 Worker=John Smith, Visit(John Smith)

Correct Answer: B

QUESTION 2
Which of the following text strings is not output to the results document when performing an XSLT transformation on the

following "XML Document” using the "XSLT Style Sheet" below? Note that the XSLT processor can output
transformation results as a document.
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[ZML Document]
<doc N3l:titcle="Title™ xmlns="http://www.xmlinaster.org/ exam”
xmlnz i N3l="http://wuw,. xmlaster. org, exam™>

<hbody NZl:zection="value™ xmlna=r"r:
<MN31l:content:-Content</N31:content>
</body>
</ doc

[E3LT Style Sheet]
<ztylesheet version="1.0" xmwlns="http:// wmww.wld.orgl 1999/ 5L Transform"™
xinln=::N31="http://www. xolmastcer .. orgf exem™ >
<output method="text™ />
<template match="/":>
<apply—-templates select="descendant::*/attribute: N31:% | descendant::N31:%"/ >

</template:>

<template match="+ | attrikute::*"z<value-of select="name ()" >, </ templace:
</atylesheets

A. doc

B. NSl:itle

C. body

D. NS1l:section
E. NS1l:content

Correct Answer: C

QUESTION 3

Which of the following describes the most correct call order of the ContentHandler interface methods when parsing the
following "XML Document" using a validating SAX parser? This question reflects line feeds within the XML Document.

[XML Document]

<?xml wversion=T"1.0"2>
<VDOCT¥PE a [

<!ELEMENT a (#PCDATL | b)) *>
¢ !ELEMENT kb (#DCDATA) >

1=

ot = e

<hbzo</he

</far

A. startDocument - startElement - ignorableWhitespace - startElement - characters - endElement ignorableWhitespace
-endElement - endDocument

B. startDocument - startElement - characters - startElement - characters - endElement - characters endElement
-endDocument

C. startDocument - startElement - startElement - characters - endElement - endElement - endDocument

D. startDocument - startElement - startElement - characters - endElement - ignorableWhitespace endElement
-endDocument

Correct Answer: B
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QUESTION 4

Process the following "XML Document" according to the method shown by "DOM Processing," and output "article” (by
print method). Select which of the following correctly describes what should be in (1) for "DOM Processing"

[ZML Documment]
<oonsentrarticled/contents>

[DOM Processing)
Process ZML using the following method.
printXML( daoco )
The ver igbile duc here pelfereaces Lhe Docwanenl ipsLlaopce of Lhe lodaded XML duc anenl .

public static wvold princEZML({ Docuwent doo )
Element conten: = doc.getDocumentElement (] ;
aystem.out.priatl] —————— (11 —————- :

H

A. content.getText()

B. content.getNodeValue()

C. content.getChildNode().getNodeValue()
D. content.getFirstChild().getNodeValue()

Correct Answer: D

QUESTION 5

Which of the following correctly describes a WSDL (WSDL 1.1) definition defining a certain service specification?
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<definitions name="Example"
targetlamespace="http:/ xylmaster.org/examp le/ vadl"
xmlnz:cna="http://xinlwaster.org/example/ wadl®
¥mlnz:xzd="http: /S erwlmazter . org/exanplae/wadh
¥mlns:soap="http://achemas.xmlsoas.org/wadl/Sscap/ "
xmlna="http://=schemas.xmlsoar. org/ wadl,/ ">
<types>
<zchema targetNamespace="http://*mlwaszer.ory/examyle/ xad™
¥mlns="hotp://wvww. w3 .org/ 2001/ XML3caema >
<element name="Docuwment ">
<complexTypex
<gequence >
<element name="Title™ type="stsing™/>
<element name="Content" type="atring”/>
</ zequencer
</oomp lexTypes
<felements>
</ zchemas
</types>

<message name="ProcesshocumentMessage >
<part name="body" element="xsd:Documenz"/>
</ nessage >

<portType name="ExamplePortIvpe™:
<operation name="Processhocument >
<input message="tns:ProcesslocumentMessage™/ >
</ operation>
</ portType:

<binding name="ExampleloapBinding™ type="tns:ExamplefFortType™>
<goap:binding style="docurent”™ transpost="http://schemas.xmlsoa).orog/soap/ htep™F >
<operation name="ProcessDocument >
<gnap:operation Soapliction=""/>
<input:>
<gnap:hody use="literal"™/ />
</ ilnpuc>
</ operation:
</binding>
</definitions>

A. The service operation is a "Request-response"” type
B. The service operation is RPC oriented, and either a parameter or return value is included in the SOAP message

C. HTTP protocol is used to send the SOAP message to the service sideC.HTTP protocol is used to send the SOAP
message to the service side

D. The service side URL (endpoint URL) is specified to send the SOAP messageD.The service side URL (endpoint
URL) is specified to send the SOAP message

Correct Answer: C
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